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image6.emf
                          Prob > chibar2 =   1.0000

                             chibar2(01) =     0.00

        Test:   Var(u) = 0

                       u            0              0

                       e     .0784994       .2801775

               pdrblahan     .2085747       .4566998

                                                       

                                 Var     sd = sqrt(Var)

        Estimated results:

        pdrblahan[no,t] = Xb + u[no] + e[no,t]

Breusch and Pagan Lagrangian multiplier test for random effects

. xttest0


image7.emf
            Prob > F =    0.0000

       F(  4,    66) =    9.42

 ( 4)  5.no = 0

 ( 3)  4.no = 0

 ( 2)  3.no = 0

 ( 1)  2.no = 0

. testparm i.no


image8.emf
          ka     0.0057   0.0023   0.0835   0.2495   1.0000 

          sm     0.0325  -0.0677  -0.1663   1.0000 

          ch     0.5195   0.0024   1.0000 

 investlahan     0.4182   1.0000 

   pdrblahan     1.0000 

                                                           

               pdrbla~n invest~n       ch       sm       ka

. pwcorr pdrblahan investlahan ch sm ka


image1.emf
F test that all u_i=0: F(4, 66) = 9.42                       Prob > F = 0.0000

                                                                              

         rho     .6466571   (fraction of variance due to u_i)

     sigma_e    .28017749

     sigma_u    .37902869

                                                                              

       _cons     10.55781   3.561288     2.96   0.004     3.447469    17.66815

          ka    -.0464679    .043561    -1.07   0.290    -.1334402    .0405045

          sm    -2.461804   1.058868    -2.32   0.023    -4.575903   -.3477052

          ch     .2678666   .0664193     4.03   0.000     .1352562     .400477

 investlahan      .152321   .0240763     6.33   0.000     .1042511    .2003909

                                                                              

   pdrblahan        Coef.   Std. Err.      t    P>|t|     [95% Conf. Interval]

                                                                              

corr(u_i, Xb)  = -0.4944                        Prob > F          =     0.0000

                                                F(4,66)           =      24.66

     overall = 0.2424                                         max =         15

     between = 0.1530                                         avg =       15.0

     within  = 0.5991                                         min =         15

R-sq:                                           Obs per group:

Group variable: no                              Number of groups  =          5

Fixed-effects (within) regression               Number of obs     =         75

. xtreg pdrblahan investlahan ch sm ka, fe


image2.emf
          no            F(4, 66) =      9.420   0.000           (5 categories)

                                                                              

       _cons     10.55781   3.561288     2.96   0.004     3.447469    17.66815

          ka    -.0464679    .043561    -1.07   0.290    -.1334402    .0405045

          sm    -2.461804   1.058868    -2.32   0.023    -4.575903   -.3477052

          ch     .2678666   .0664193     4.03   0.000     .1352562     .400477

 investlahan      .152321   .0240763     6.33   0.000     .1042511    .2003909

                                                                              

   pdrblahan        Coef.   Std. Err.      t    P>|t|     [95% Conf. Interval]

                                                                              

                                                Root MSE          =     0.2802

                                                Adj R-squared     =     0.6236

                                                R-squared         =     0.6643

                                                Prob > F          =     0.0000

                                                F(   4,     66)   =      24.66

Linear regression, absorbing indicators         Number of obs     =         75

. areg pdrblahan investlahan ch sm ka, absorb(no)
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         rho            0   (fraction of variance due to u_i)

     sigma_e    .28017749

     sigma_u            0

                                                                              

       _cons    -2.071637   2.056634    -1.01   0.314    -6.102565    1.959292

          ka    -.0372357   .0394945    -0.94   0.346    -.1146436    .0401721

          sm     1.144139   .5988732     1.91   0.056    -.0296313    2.317908

          ch     .4322804   .0691962     6.25   0.000     .2966583    .5679025

 investlahan     .1056522   .0214373     4.93   0.000     .0636359    .1476685

                                                                              

   pdrblahan        Coef.   Std. Err.      z    P>|z|     [95% Conf. Interval]

                                                                              

corr(u_i, X)   = 0 (assumed)                    Prob > chi2       =     0.0000

                                                Wald chi2(4)      =      62.75

     overall = 0.4727                                         max =         15

     between = 0.4393                                         avg =       15.0

     within  = 0.4864                                         min =         15

R-sq:                                           Obs per group:

Group variable: no                              Number of groups  =          5

Random-effects GLS regression                   Number of obs     =         75

. xtreg pdrblahan investlahan ch sm ka, re


image4.emf
                                                                              

       _cons    -2.071637   2.056634    -1.01   0.317    -6.173464     2.03019

          ka    -.0372357   .0394945    -0.94   0.349    -.1160051    .0415336

          sm     1.144139   .5988732     1.91   0.060    -.0502764    2.338553

          ch     .4322804   .0691962     6.25   0.000     .2942729     .570288

 investlahan     .1056522   .0214373     4.93   0.000     .0628969    .1484075

                                                                              

   pdrblahan        Coef.   Std. Err.      t    P>|t|     [95% Conf. Interval]

                                                                              

       Total    15.4345296        74  .208574724   Root MSE        =    .34098

                                                   Adj R-squared   =    0.4425

    Residual    8.13894761        70   .11627068   R-squared       =    0.4727

       Model    7.29558195         4  1.82389549   Prob > F        =    0.0000

                                                   F(4, 70)        =     15.69

      Source         SS           df       MS      Number of obs   =        75

. regress pdrblahan investlahan ch sm ka
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                (V_b-V_B is not positive definite)

                Prob>chi2 =      0.0000

                          =       61.98

                  chi2(4) = (b-B)'[(V_b-V_B)^(-1)](b-B)

    Test:  Ho:  difference in coefficients not systematic

            B = inconsistent under Ha, efficient under Ho; obtained from xtreg

                           b = consistent under Ho and Ha; obtained from xtreg

                                                                              

          ka     -.0464679    -.0372357       -.0092321        .0183777

          sm     -2.461804     1.144139       -3.605942        .8732428

          ch      .2678666     .4322804       -.1644139               .

 investlahan       .152321     .1056522        .0466688        .0109595

                                                                              

                   fixed        random       Difference          S.E.

                    (b)          (B)            (b-B)     sqrt(diag(V_b-V_B))

                      Coefficients     

. hausman fixed random


